Completing the Square Practice March 15, 2024

Today's Plan:

Learning Target (standard): | will solve quadratic equations by completing
the square.

Students will. Complete practice problems over previous concepts at the
boards, put up homework problems on the board and make necessary
corrections to their own work, take notes over new material and complete
practice problems over new concepts.

Teacher will: Provide practice problems over previous concepts, check
homework problems for accuracy and provide students feedback, describe
and provide examples of new concepts and assign students assessment
problems over new concepts.

Assessment. Board work, homework check and homework assignment

Differentiation: Students will work at the board, go over and correct
homework at their seats, actively engage in lecture over new concepts,
practice new concepts with the aid of other students and the teacher and
complete homework assignment.
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BELL RINGER

1) Find the x-_and y-intercepts of the graph of the linear equation
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v (0.4) 2x=24 =24
o )

2.) Forjh(x)}= 3x - |, find the value of x for whicH h(x) = Il

u=3%x-| 12=3x x=y

3)Solve 5 +k <12,

Write the solution as a set & interval. Graph it.
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Solve by completing the square.
3)x’ +18x-93=-5
K+BX 431 = 33+8|
)\ ==
A (x+9)" =13
! XH=13-1%
XH=15  aH=13
A=Y X=-22

2=¢=3

Solve by completing the square.

—x" —4x-3=0
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Solve by completing the square.

5x* —10x-20=0
5_)52"9’_( =20 ‘2%=l2:|
8 D S

Solve by factoring.

3x> —6x =45

3X -lx-45=0
2 3

3(x 2c15)=0 13 —
Xoe3x-8x-13=0 375772
X(x3)-3(x2)=0
3 (x3)(x3)=0

3'7‘0 X+30 X-3=(
=3 X=S
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Solve by completing the square.

3x’ +6x—4=38
_3_>£2+(£_‘=L2.- %“-‘-l":[
2 D 3
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|
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=Y,

Solve by factoring.
10b* =12b

10b*-12b=0
2b 2b

2b(3b-l)=0
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Solve by completing the square.

4’ —8u =96
M 4y

VZh+1 =24+

()42

DER
X+4=\3) - (3)

- +-|=-2
U-[=3,-9
Solve by completing the square.
2x” +8x=30-8x
23 +lx =3 S
TR Loy,
z = -\-I(_q |
ATk e =15 A
4+ =3
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Solve by factoring.
4y’ ~48¢-80=0
-4 -u -y
~4(y* 20) = 20
L[(x+l2)(+ 3 O »
jx”+|ox+2x+zo=o
X(x+|6)+2(x+l6§=0

4 (x+Io)(x+2) =0

440 xx=D X+2:=0
X=-0 X="2%

0D+2=(2
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X=-10,-2
Solve by factoring:

o0m* —15n=-7
20130 +7=0 a
/N\

20 4n-n+1=0
In(n-D-1(n1)=0

(n-ﬂXZn—ﬂ:D
Nn-1=0 “2n-1=0
Ny o

n=1.
| 2

N:=1,3

T e
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Solve by completing the square:
3n* —12n-37=-1

3n2-|2 =3 -‘i: 2
Pin=3k 3=

n2-gh+4 =12 +4 /q\

Y

\

N2 =44

mz_fm -Li——Z:

Assignment:;

#1-12
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